
Answer on Question #71906, Physics / Other 

 
Question. The density of gold is 19.32 𝑘𝑔/𝐿. A gold colored piece of metal was massed out to be about 5,230 𝑚𝑔. 

The volume of the metal measured by placing it in 14.6 𝑐𝐿 of water and the water level rose to 17.2 𝑐𝐿. Is this piece of 

metal gold? 

 

Given. 

𝜌0 = 19.32 𝑘𝑔/𝐿; 

𝑚 = 5,230 𝑚𝑔 = 5,230 ∙ 10−3 𝑔 = 5,230 ∙ 10−6 𝑘𝑔; 

𝑉1 = 14.6 𝑐𝐿 = 14.6 ∙ 10−2 𝐿; 

𝑉2 = 17.2 𝑐𝐿 = 17.2 ∙ 10−2 𝐿. 

Find. 

𝜌−?. 

Solution. 

The volume of the metal is 

 

∆𝑉 = 𝑉2 − 𝑉1 = 17.2 ∙ 10−2 − 14.6 ∙ 10−2 = 2.6 ∙ 10−2 𝐿 

 

Hence 

 

𝜌 =
𝑚

∆𝑉
=

5,230 ∙ 10−6

2.6 ∙ 10−2 = 2011 ∙ 10−4 𝑘𝑔/𝐿 = 0.2011 𝑘𝑔/𝐿 

 

𝜌 ≠ 𝜌0 

 

Answer. it's not gold 
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